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MT-05
June - Examination 2019
B.A./B.Sc. Pti. Il Examination
Differential Equations
Paper - MT-05
Time : 3 Hours ] [ Max. Marks :- 47

Note: The question paper is divided into three sections A, B and C. Use of
non-programmable scientific calculator is allowed in this paper.
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Section - A 7X1=17
(Very Short Answer Type Questions)

Note: Section - A contains seven (07) Very Short Answer Type Questions,
Examinees have to attempt all questions. Each question is of
01 marks and maximum word limit may be thirty words.
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1) (i) Define order of differential equation.

Jahol AHIDBRUT &l Dife d gRITIRT HIR|
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(i) Find integreating factor of Differential equation.
3fADA FAHIPRUT DT FHIDE oM ST DI |
dy 2. — can2
x + ysec”x =sec” x tan x
(111) Write necessary and sufficient condition for differential equation
Mdx + Ndy =0 to be exact.
JqDHA THGRU Mddx + Ny =0 P JATT THRRIT 84 Pl

3MaTHh Ug ygfeg gfae=y forlRad|

(iv) Solve

WWI y=px+

(v) Define node path.
e Y Bl IR BT

(vi) Solve
g BRI (D*-3D+2) y=0

P
p—1

(vii) Derive partial differential equation from expression
2= fie?+ yY)
D z= f(x>+y?) MRS Fda FHIBU Fed—
SR
Section - B 4%xX5=20
(Short Answer Type Questions)
Note: Section - B contains Eight Short Answer Type Questions.
Examinees will have to answer any four (04) question. Each

question is of 05 marks. Examinees have to delimit each answer
in maximum 200 words.

MT-05 / 2000 / 4 @) (Contd.)



727

(Tvs - 9)
(oTg TR UeA)
fAder: @ue ‘' 1 36 Y I PR & U g, wanlRfai a1 fhgr
ft IR (04) HaTeA! & ST ST 81 T T 05 il &t g
TRianRfIT @l eTfrrad 200 geqi # TS Stard U d
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_ 4y dy
2) Solve /& BT y—x = =Xty
3)  Solve /8 B (x*y* — xp) dx —dy =0
4)  Solve /8 BT p2+2 pycot x = »°
5) Solve/gcl HIR: xyp?—(x*+y?—1) p+xp=0
6) Solve/gcl PR (x> D2+ xD +1 )y =logx .sin (logx)
7) Solve / 8 DR (x+2) —(2x +5)d +2y=(x+1)e”
8) Solve/gcl SIS x(yz—Zz)p—y(x2+zz)q=(x2+y2)z
9) Solve/get SIS (D?*—DD' —2D'*)z =(2x*+xy — y*)sinxy — cosxy
Section - C 2%X10=20
(Long Answer Type Questions)
Note: Section - C contains 4 Long answer type questions. Examinees

will have to answer any two (02) questions. Each question is of
10 marks. Examinees have to answer in maximum 500 words.
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10) Solve / 81 BT

11) i

12)

)

(xy sin xy +cos xy) y dx + (xy sin xp —cosxy) x dy =0
&y
dx?  dx
dy dz

2d_+4d__3 z=0

2 —4y=2x

Find singular solution of 4xp? = (3x — a)*
4xp2=(3x—a)23ﬂ]%|ﬁl3[8?ff§lﬁ HIRR|
Solve by method of variation of parameter.
grael ferur fafer gRT gt IS

d’y

e +a’y =sec ax

Solve by Charpit method.
odf ffer & gt HIRR |

)
ii)

(p*+q*)y—qz=0
20y+qz)=q@p+yq)

13) State and prove existence and uniqueness theorem.
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